EAGRAROBREERT — 2 N— IBISH —F

2021578230 (&) 9EEMH3A

B=sv~—71—— & v5%3%t

‘ [R1%] & ‘ [REBE] — | & (&) 17000 B

[A&4] 1 7% :6,000,000 @ 23 :2,400,000 @ 3 3 :1,500,000 @ 4 3 :900,000 § 5 7% :600,000 {
& %B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
s EEiE 149, ~5-1- . - WEX (BEHE)
N AP E i 6 s 1(4_9)8 5-5-1-1 | 38.5 9 ;1_812) L
ATz —J) B:¥—U—20-—F BRT7—LI
. M 49, 34— 9| - INEER (AF)
ol1l1131>pV—7 i 5 i 1(14/92)9 3-3-4-2 | 38.9 1 (415) ;c§§§%
oo Bz I—7— AR S
s 5 | KEEZ 1:51.1 8-8-5-5 |39.5| — 2 497 | RERESE (J111&)
1 6 Rl 55.0 @ (-5) | ERILE
Z:va7x BYILHIA—2 i &R
: 4 5 | WiEE 1:51.4 12-12-12-9 | 38.4 | — 5 458 | WigEE (J118)
4|55 |BAT F=N 6.0 KR wy | ERES
:0-KA+0O7 B:EILIL-I ZREAKS
3 46 | JIRE— 1:51.5 11-11-10-7 | 39.0 | — 6 520 | MR (FEH)
] 4 B TA—=H— 55.0 (1/2) (-8) TARRRR I
RIVINATA—h— B:HUTIh=1)— EENIS
== 4 4 | TEE 1:51.7 1-1-2-3 | 40.9| — 3 506 | ¥ FHEE (EM)
67|10 AT 7EF—7 . 55.0 (1 1/4) (13) | HEES
RIZXKT—NSF— B:USAT T b atEs e
7 6 | AIUEE 1:51.7 6-6-3-4 |40.2| — 4 440 | B—I5 (EA)
ZH 71%7/ Jav 55.0 (74%) (+5) | BEEB
L —=FHI79> B:xU /TN WA
3 # 5 | FHEELT 1:51.8 7-7-8-6 | 40.2 | — 12 | 544 |EER (FhH)
g|5|6| T v —EN 55.0 (7€) 4s) |HEB
R:YZRE—3IZR8— B:Fr—LU1—7 [l 0et
# 7 | FEREM 1:52.2 10-10-9-10 | 40.4 | — 11 520 | BEiERER (EIM)
9/7!|9 E/N— 55.0 (2 1/2) (+6) itlflﬁﬂé
LNNVTSTY BiYA4a EdHTT— L
= B 7 | A—R 1:52.4 9-9-11-8 |40.5| — 10 | 459 | W& (FEk)
EE 2|2 o e (o) |EEm3
R—FHEIIIL B=Y I H—V— Bt
= B4 | KA 1:55.4 4-4-7-11 | 44.1| — 7 481 | BEiERER (EM)
11811 TV*¥7 72— 8.0 (519 5 |EEAE
RiF4—TZAHA B:avFEN =Eii e
s = PNAEIR— : 06— — NS (BHE)
1218112 JSIxIINIYT 4 4 e (17.?:;3) 2-2-6-12 | 46.3 8 (4_710) Eﬂlﬁék
LNMVTSY B4 Uy RTLA L REicie]
® I —F—EBIERL
=== 10,12,1,11,3,7,6,8,2,9,4,5
2al=7F= 10,12,1,11,3,7,6,8,2,9,4,5
Ga=r= 3,10,7,1,8,12,11,6,9,4,2,5
41—+ — 3,1,10,7,8,6,4,2,5,9,11,12
[ RN
B OB 3 4,640 714K 1-3 1,320H e & 1-3 4,990 3ER 1-3-8 4,280
% B 3 520M 3-8 1,760M B E 1-3 5,180/ JEH 3-1-8 56,020/
1 130M4 1-8 180M B H 3-1 17,090M
8 140H

ARICOVWTRDTEEERROODE. TR LIV,




